[image: image1.jpg]




5
RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


K33
Kawasaki Ninja 300 2013-
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	No.
	Description
	Cat.No
	Pcs
	
	No.
	Description
	Cat.No
	Pcs
	

	1
	steel insert M12
	X2
	1
	
	1
	steel insert M12
	X2
	1
	

	2
	screw M12x40mm
	1021
	1
	
	2
	screw M12x40mm
	1021
	1
	

	3
	duralumin cylinder d = 70mm
	470
	1
	
	3
	duralumin cylinder d = 70mm
	470
	1
	

	4
	screw M10x60mm
	850
	2
	
	4
	screw M10x60mm
	850
	2
	

	5
	steel adapter
	642
	1
	
	5
	steel adapter
	643
	1
	

	6
	nut M10-insurance
	810
	2
	
	6
	nut M10-insurance
	810
	2
	

	7
	pad M10 flat 
	804
	4
	
	7
	pad M10 flat 
	804
	4
	

	8
	screw M12x40
	857
	1
	
	8
	screw M12x40
	857
	1


Mounting - left side:

1. remove the original fairing side and screws M10 of the motorcycle frame
2. from the back side of the steel adapter (item 5) insert bolt (item 2)and fixed duralumin cylinder (item 3)
3. by screws (item 4), nuts (item 6) and pads (item 7) fixed on the motorcycle frame steel adapter (item 5)
4. to the crash protector insert a steel insert (item 1) and screw (item 8)

5. mounting the fairing on te bike
Warning - the threads of the screws is recommended to use premium adhesive moderate (blue color).

Mounting - right side:
6. remove the original fairing side and screws M10 of the motorcycle frame
7. from the back side of the steel adapter (item 5) insert bolt (item 2)and fixed duralumin cylinder (item 3)
8. by screws (item 4), nuts (item 6) and pads (item 7) fixed on the motorcycle frame steel adapter (item 5)
9. to the crash protector insert a steel insert (item 1) and screw (item 8)

10. mounting the fairing on te bike
Warning - the threads of the screws is recommended to use premium adhesive moderate (blue color).

[image: image2.jpg]


[image: image3.jpg]


[image: image4.jpg]


[image: image5.png]



1

